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HERRT 2 T iR EAE BRE T DU SR R ME R E T IR B — A - T B R
n LA E TRV EE — R e ) 'SR REE AR e R A BEENE
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0 1 2 0 0 0 0
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X10 X20 .. Xko 00 ..1
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X1iX2i v Xki
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A, = ' » JRE[
xl(i—l)xZ(i—l.) v Xk(i-1)
X1(i-k)X2(i-k) .. Xk(i-k)
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0 1 0 0
0 O 1 0
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0 O 0 1
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X1(i-k+2)X2(i—k+2) ... Xk(i-k+2)
T E RS - A ETN TR B R - A
X1(i-1)X2(i-1) Xk(i-1)
X1iX2i Xki
0 1 0 07
0 0 1 0 X1(i-k)X2(i-k) .. Xk(i-k)
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= ' (6]
0 0 0 1 X1(i-1) x2(i—1.) v Xk(i-1)
1 q1i92i - Qi
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7 & T Y RS2 A R B 22 T R A S e L U R A R R R T B B - th iRz 5 Y B
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B o [@ 7 HYET T TR E 6 T TSRy AR
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33,55, 79, 99
ay | ] ay 9 G2 G T Y z w
1 0 0 0
0 1 0 0
0 0 1 0
0 0 0 |
33 55 9 99 1 2 3 1 1 2 3
22 13 0 33 0 0 1 1 2 2 3
13 0 11 22 0 0 | 1 2 3 3
0 11 9 13 0 0 0 0 0 0 1
11 9 13 0 0 1 0 2 3 5 6
9 2 0 11 0 0 | 3 5 | 9
2 0 2 9 0 1 14 15 25 36 45
0 0 1 2 0 0 0 0 0 0 |
0 1 2 0 0 0 0 2 3 5 6
1 2 0 0 2 0 0 33 59 9 99
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Bl 7 @ ¥ i AT S B — 4802 che A F B

B E 7 P RTTRY R IR —HIE Ryt 2 TR SUAY (5 8033,55,79,99  #H I Z (d =
1 i) > Lehmer(1919)f5 tH TAEH (o] H#ER R GUAEH ) ¢
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RGEE
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X1(i-k)X2(i-k)
X1(i-k+1)X2(i—k+1)

% [ayaziasz; .. aki]|
I
|

X13i-1) X2(i-1)

Hi=1,2,..,n,n+1-

Xk(i-k)
. Xk(i—k+1)

} = [a11021 .. Q4]
|

Xk(i-1)

C1 0 €1 1
Cy 0 2 0
IREN (A7 - | = B (AT BB R R SIS R 0 SR A HITAL - | =]

le.] Lo

B |det(Ap)| = 1> & A &1 " BGEERTE n oA E TR AN BRE — R ER | B
AR — Mg o SAT R PR AR BOE T - R AR (A) T — 1T Bl 18 — 1T ACHRIR IV AE R
BhIE R (R BB o R TTIE T 15 AV IR e iR &5 2R - MR R PR 0t T — e, fdt
AR ) — A o (8 8 REORHY R E 7 B PRy — i fE

15 25 36 45 38 3
Sr s e T s s 0 0 0 1 1 T 0
=L A ,t LEef Ay = o Ay =
R B TS LA AL 2 3 5 6 L 11 0
33 55 79 99 0 1
17 3 53 38
I 3 0 3 7
=R o b B
l.J’iF.J....« fE 3 -; 0 0 ll
0 1 () 0
AL
33z + 55y + 792 + 99w = r. r¥EYr AV —HTEE S
r 17 3 5 38 r
Yy _ 3 0 3 T 8§
z 5 0 0 11 t
w 0 1 0 0 "
ARE
xr = 1T7Tr — 3s + 5t — 38u
Y = 3r 3t 4+ Tu s. 1. ‘l‘f“?}'{
z = —dr + 1lu
w=s
Bl8:ew @i fgleh- L ERET RGOS T H
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HCE 7T ZFWET R BREERE A AT 2 HE SN EERE - B 9 RRAYEE
BRI EEE - T EREEE Lehmer(1919)0 E B - {5 & 0 LUK 7 23RS —FIHYE
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ity ged| | EURAN| |ITRARUERE |WRikBUER | A6 |SRGIHE
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00 01
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1 010 00 0 1
1 2 2 3
pprmpere s _ | 1 2 3 3 4
FERTEMA=| 5 0 o ] HEsA;= A
2 35 6
(3)LehmeriE HERE
1 2 2 3
[9 2 0 11] ﬂl' ("; l‘] ;] =[33 55 79 99 ]
2 3 5 6

Bl O: %17mit b2 R MA@t T Rank &

EREA EEFTHIRNIER > 4 G BLATHCE (h §Y 2 T IR BROA R R SR
L PeE AT B8 SR L 2 ek A R DSR4 BB B - o BB - 0 TR — B o A e Y SR A PR —
RIEANEH - WO AAEBRREAR LIE TR (R A BRI AR e — R MR o Y R A 4
BN Ay = EpEn oy . By ERRIEANEA AL ER R
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I
X1(n+k) x2(n+llc) v Xk(n+k) lO 0 1J
X1iX2i Xki
X1(i+1)X2(i+1) .. Xk(i+1)
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